9.6 Practice - Quadratic in Form

Solve each of the following equations. Some equations will have

complex roots.
1) 2t =522 4+4=0
3) mt—Tm?—-8=0
5) at —50a%+49 =0
7) 2t — 2522+ 144=0
9) m*—20m?+64=0
11) 26 —216=192%

13) 624 — 22 =12

23) 2 — 922 +8=0
25) 8% — 923+ 1=0
29 (y+b)2—4(y+b):21
31) (y+2)2—6(y+2)=16
33 )=35

2) y*—9y2+20=0

6) b*—100>+9=0

y'—40y?+144=0

)
4) y* — 295> +100=0
)
8)

10) 2® — 352% +216=0
12) y*—2y*>=24
14) 272 —271-12=0

16) 5y~ 2 —20=21y"!
18) 2t — 72?2 +12=0
20) 2+ 722 +10=0
22) 22 — 22 —-3=0
24) 25—1023+16=0

26) 828+ 723 —1=0
(x =12 —4(z—1)=5
30) (z+1)?+6(x+1)+9=0
32) (m — )—5(m—1):14
34) (

36) 2(x —1)2— (x —1

)
)
)
)
)
)
)
)
)
28)
)
)
)
)
)
)
)
)
)

37) 3(y+1)?—14(y+1)=5 38) (22—3)2—2(22—3)=3

39) (2% —22)” +5=06(32% — 27) 40) (224 z+3)24 15 =8(22 4z + 3)
41) 2(3z+1)7 — 5(3x + 1)7 =88 42) (22 + 2)2— 8(a2 +x) + 12 =0
43) (22 +2x)* = 2(2* +22) =3 44) (22%+ 32)*=8(22*+3x) +9
45) (2% — 1) — 4222 — ) +3=0 46) (32?2 —4x)?=3(32% —4x) +4
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9.6

Answers - Quadratic in Form

D*L+2 24) 2,3/3, — 1 /3, 2LV
2) £2,+5 5y 1.1 I 1k
3) +i,+£2V2 242
1 —14+iv3 14iV3
4) +£5,42 26) 5.~ 1, —5— 5
5) +£1,+£7 27) +1,44,+2, +2
6) +£3,+1 28) 6, 0
7) +£3,+4 29) —(b+3),7-0
8) £6,42 30) —4
9) +2,+4 31) —4,6
10) 2,3,—1i¢\/§,#‘°’”§ 32) 8,—1
‘ 33) —2,10
11) —2,3,1+iy/3, 2205 34;2 )
12) ++/6, £ 2i ’
35) —1,11
13) +2ivV3 £V6
B2 36) 2,0
14) 1 21 4
i3 37) 4, —1
15) — 125,343
) 38) £v6,£V2
16) — 2.1 s
4o 39) £1,— 5,2
1 14+ivV/3 —14iV3
Nl =5 40) 0,+£1,—2
18) +£2,+/3 41) S 18
19) +£i,£V3 42) —3,+2,1
20) +iv/5,£iV2 43) +1,-3
22) +i,=° 45) £1,— 5,3
23) £1,+2V2 46) 1,2, 5, — =
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